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Матрица ответов 11 класс 

Часгь 1. [30 баллов]

Итого: баллов

1 2 3 4 5 6 7 8 9 10
1-10 й  Ь А +- Г Б г А t - в ' Г / в

11-20 А А г в  г -В Б ь- к В ^ Г '
21-30 6 +• € 6 А  + в / ль- А  f

Часть 2. [20 баллов)
1 2 3 4 5 6 7 8 9 10

1-10 Г  ^ -Г А ■ + Г  -г -Г ' А  + в Л С А сГ

Часть 3. [15 баллов)
№ 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

прав.
«ДА» V \/ \/ V V' V/ \{ /

неправ.
«НЕТ» V V \/ V/ V

— ^  -Ь
Часть 4. [15 баллов)

I. [тах  3 балла)

+  -

{ О

Растение 1 2 3 4 5 6
Опылитель Е + Ь А Г t А  ? Б

2. (тах  3 балла)

Рисунок 1 2 3 4 5 6 7 8 9 10 11 12
Жизненные
формы А .Б" В г Г Т В Т в  1 Я ' В Е В Е а /

Гг

3. [тах  2,5 балла]

Порядок
возрастания
площади

1 2 3 4 5

Тип сосуда А г А' .Г 5

4. (тах  2,5 балла)

Сзруктура уха 1 2 '3 4 5
Функция 1 6 А  • В А Г / / . Г

5. (тах  4 балла]

Процессы 1 2 3 4 5 6 7 8
Органеллы JЙ)' Г т б ь • ,Г В  т б  Т т

а ) .  Г/


